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Pratique o que aprendeu      

<latexit sha1_base64="++mRrjHDH10+qcLdgoRqT/qUfj8="></latexit>

~F =

Z

S
n̂ ·

$
T da� ✏0

d

dt

Z

V

⇣
~E⇥ ~B

⌘
d⌧

z

x

y

Q

~F =?



Pratique o que aprendeu      

<latexit sha1_base64="++mRrjHDH10+qcLdgoRqT/qUfj8="></latexit>

~F =

Z

S
n̂ ·

$
T da� ✏0

d

dt

Z

V

⇣
~E⇥ ~B

⌘
d⌧

z

x

y

Q

~F =?• Superfície de Gauss: 
hemisfério



Pratique o que aprendeu      

<latexit sha1_base64="++mRrjHDH10+qcLdgoRqT/qUfj8="></latexit>

~F =

Z

S
n̂ ·

$
T da� ✏0

d

dt

Z

V

⇣
~E⇥ ~B

⌘
d⌧

z

x

y

Q

~F =?• Superfície de Gauss:                
hemisfério


• Topo => hemisférico


• Base => plana
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•  paralelo ao campôn
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Equações de onda
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